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The standard deviation of 5 values is 5Y2 . If each value is increased by 4, then

the new standard deviation is
a) 20V4 : b))  10V2

o 5V2 d) %‘@

One card is selected at random from a pack of 52 cards. The probability that

the card selected is a red card and a black card is

LY &
9 96 Bl s
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SECTION - B
Answer any ten questions : ' 10 %2 =20

'Define a scalar matrix with an example.

0 2 3 7 6 3
If A= ’ and B = find the value of 5A - 2B.
2 1 4 1 4 oy

Two circles of radii 16 cm and 9 cm touch each other externally. Find the length

of the direct common tangent.

In a triangle ABC, D and E are points on the sides AB and AC respectively
such that DE || BC. If AD = 4 cm, AE =8 cm, DB =(x - 4) cm and

EC = 3x- 19 cm, find x.

The perimeter of two similar triangles ABC and PQR are respectively 36 cm and

24 cm. If PQ = 10 cm, find AB.
Find the X and Y intercepts of the line 2x -3y - 12 = 0.

Find the slope of a line which is perpendicular to a line passing through (0, 6)

and (-3, 1).
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Find the equation of a line parallel to X-axis and passing through the point
(-4 Z)

If the vertices of the A ABC are A (-2, - 1), B (- 1,-4)and C (0, =5 ), find
the equation of the median through B.

34—
vaethat% = sec? ¢ + tan ¢.

When cos 6 > 0, solve 2 cos26 =

B[ =

Using the formula, sin (o + B) = sin a cos B + cos o sin B, find - sin 75°.

From a point on the ground 20 m away from the foot of a vertical tower the

angle of elevation of the top of the tower is 60°. Find the height of the tower.

The number of lollipops eaten by children of 5 families are 4, 6, 8, 12 and 15.
Find their standard deviation.

Find the probability that a number selected from the first 25 natural numbers is

a prime number.

PART - II

N. B.: This Part contains four Sections, Section - C, Section - D, Section - E
and Section - F. .

SECTION - C

Answer any two questions : s E 2x5=10
State Angle bisector theorem and prove it.

In A ABC, £ C is a right angle. P is a'point on AB and PN 1 CB. If AP = 3.
NG %
PB =4, CN = x, PN =y, show that y=3 =

In A ABC, PQ is a line segment intersecting AB at P and AC at Q such that

PQ || BC and PQ divides A ABC into two equal parts in area. Find %g ;
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SECTION - D

Answer any three questions : 3x5=15
4 4 7 ks R |

Find Xand Y, if 2X+Y = , X=-2Y = :
T L S A 1 -1 2

2 8 -1 -3
If A= B = , verify that (AB)T=BTAT,
A -4 -4 :

Find the standard deviation of the following :

ClI: 0-10 10 - 20 20 - 30 30 - 40

I 3 4 2 5

Two dice are rolled together. Find the probability that the two-digit numbér

formed with the numbers turning up on their faces is a multiple of 7 or 5.

SECTION - E

Answer any two questions : 2x5=10

cos 6 . sin ©
1-tan® * 1-cot®

Prove that = cos 0 + sin 0.

Find the area of an isosceles triangle with base 10 cm and vertical angle 47°.

From the top.of a trée. the angle of depression of an object on the horizontal
ground is found to be 60°. On descending 20 ft from the top of the tree the

angle of depression of the object is found to be 30°. Find the height of the tree.

SECTION - F
Answer any three questions : : 3x5=156
Find the equation of the line passing through (-3, 10 ) and making intercepts

a, b on the X, Y axes whose sum is 8.
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